L TIEEE
EEEREEFEY
EH

#5588

YRk 2 7TEERNRANRFEFREBAZOZRRI (24 13H)

TEL 076(225)1831

1 RIUSEEREBAZERRK
(£H%) 24%45%2840—X (H26 248%45%F30—2R)
(EBH) 18 3%HE (H2 6 1% 3%FH)
2 HBAFEZRRR
2 Bl
FE %é%?%& %ﬁﬁm &%ﬁ% m@?%ﬁ k%?ﬁ) iff%& %f?ﬁ
a) ()
21 E 3,880 814 866 1.06 1 865| - 1.06
265K 4,000 892 936 1.05 0 936 1.05
i A 120 A 78 A 70 0.01 1 AT 0.01
E B
a) (&)
215 200 50 3 0.06 0 3 0.06
264 200 50 2 0.04 2 0.04
B 0 0 1 0.02 1 0.02
3 2K - FHBEEAZZHRRRE (£84))
(1) ZREESEOER (2) ZREEFNZSVEH-0—2
4 PTRA EE Bz | 8 4A PHoo-X L EE
1 |HERE 3.20 1 |HgEE HWEES 5.40
2 |/MATIL 206 2 |T#E THA 3.20
3 |&iRE#E 1.54 3 |/MATRIL EB(GEN) 290
4 |REEE 1.43 4 |@RRER EEGEH (190
5 |REFZEFE 142 5 |hiwE E OB 1.71
4 RERB
(1) EREZER HBAFZEETLITATOFR =2RFI24% EEHH 1K

(2) fExXERE £BH1 7% EFEF K
CERRD MR, MREERE. SFE. R OEE), REGRATR) | BE, SRRER%E).
SRR, TR MRV, BR, BFHE. ABMLE, PTE) | SRR,
ERE, N, EERETR) . SFE AT, BBk, /AT S ()
GERSHD> iR

(3) EMRERER £BH6eHk ERGLL
Bk (AE—YREa—R) @RRER@EFa—2), TETEH, 7910/
R (KR — Y REERIER) | GRIE GREIRY . MATIT (2 —2)

Y
EEREN

BB HEBEAR EEREAZRUHREARIIBETP5RDOTE
-28188 (K) HEAZRUVEERAZOSRAEERARRVEEHEOEM

HRBARFEERLR



ERH27EE AIUSETER HEAZ(ZHAHN) OZEEHFZFORKR (1/3)
2 HEE248-452 40—

H FEREE miEE
NO| =#% ZEE nEra|HEY HEE| HEAR xEEy|2nEg|sakR] EE
A B C ¢/B| D |E=C-D| E/B
BT 80 16 21| 131 0 21| 1.31
HREFRE HEBEDEX 40 8 13| 1.63 0 13| 1.63
N B | 120 24 34| 142 0 34| 142
2|40 = #wers 80 16 4] 025 0 4] 0.25
3/ W OE S 160 40 57| 143 0 57 1.43
B 80 20 33| 1.65 0 33| 1.65
B & 80 20 12| 0.60 0 12| 0.60
4/ 8 T X B & 40 10 15| 1.50 0 15| 1.50
e 40 10 8 080 0 8| 0.80
N E 240 60l 68 113 ol 68 113}
5|F H| BEFEH 200 40 35| 088 0 35| 0.88
% B 120 18 4] 022 0 4] 022
6|%E | EBEQAN -V 40 8 4] 050 0 4| 050
o &1 ie0l 26 8l 031 o 8 o031]
N C Bewr 120 24 33 1.38 0 33| 1.38
B 2\ R&J)—V8BE] 160 32 25| 0.8 0 25| 0.78
5 B’ 160 16 12| 075 0 12| 075
9 RRE R FHEGEEH 40 10 19 1.90 0 19 1.90
| A & | 900 2] 31[ 1.19 o 3 1,_1_3T“‘& }
102 R & F|LRABEHRESHZ] 280 70 108 1.54 0] 108] 154
W 2T L 80 20 23] 115 0 23| 1.15
g = 40 10 8/ 0.80 0 8| 0.80
BEFER 40 10 6] 0.60 0 6| 0.60
1T E 3 A= 40 10 10| 1.00 0 10[  1.00
Ir = 40 10 11 1.10 0 11| _1.10
TXREANTE 40 10 14| 140 0 14| 1.40
THAY 4] 10 32| 320 0] 32| 320
. T B TEEEe o]
12|€ R db B #BazH 200 50 41} 082 0 41| 082
BERREAE H =& 160 24 70 0.29 0 0.29
14| # T B’ 120 18 8| 044 0 8| 044
AR—VRERF 80 20 20| 1.00 0 20| 1.00
15[ M BEEH 120 18 1] 006 0 1| 006
n o000 38 21] os55] o 21 o055]
BT R 40 10 9] 0.90 0 9] 090
168 MF T % B = 40 10 7| 070 0 71070
EHRER 40 10 13| 1.30 0 13| 1.30
M 5 | 10l 300 290 0970 o] 29 o097]|
1= Z & =B 80 12 10| 083 0 10| 083
18| " weazs 40 8 4/ 050 0 4] 050
BT 80 20 17 085 0 17| 0.85
9t BE X E E & 40 10 1| 0.10 0 1| _0.10
0
ol

RaREFH 80 20 11] 055

11| 055
29| o058]




ER27FEE NISFEER HEAZ(ZHFD OZBREREORR (2/3)
HEEEE ks
NO 4 EE £ nEra|HER | LEE s nEss| cEEy| 2nay|snes| EE
A B c c/B| D |E=C-D| E/B
BERE 40 10 54| 540 0 54| 5.40
20H & E| REEEL 40 10 10| 1.00 0 10| 1.00
N go] 20| 64 320 of 64 320}
' & 40 8 11| 1.38 0 11| 1.38
21|88 F|  wEHAE 80 16 3| 0.19 1 2| 013
b E 120 24 14 058 1 13| 054
' & 40 2| 050 0 2| 050
22| Bl EBEFYUT) 40 4 1] 025 0 1] 0.5 [F&a—2
Mn B 80 8 a| o038 0 3l 038)]
& B 160 24 41| 171 0 41| 171
23/ Wy T o3r|  EBEW 40 10 29| 290 0 29| 2.90
A 2000 3] 70| 208 o 70| 206]
B W 80 20 20| 1.00 0 20| 1.00
g =K 40 10 7l 0.70 0 7| _0.70
24(RMITE 40 10 71070 0 7] _0.70
' 40 10 17] 170 0 17| 170"
40 10 8| 0.80 0 8| 0.80
240 60 59] 098] o 50| oos|
£ B & 3 3880 814| 86| 1.06 1| 865/ 1.06 |
ERH278E AAEFEER HEBAZCEETH) OZREFZFORR (3/3)
EEHE 15 a3
HERFEE mESE
NO 2, BRI pEva| HEN LBk HEsE| cEEg 2rey 2ass| {EE
A B c c/B | D |E=C-D| E/B
Ba2E (&E 40 10 0] 000 - - -
1% R B R BREFH(FRED 80 20 1| 005 0 1] 005
BEEH(FR) 80 20 2| 0.0 0 2| 0.0
i | 00 ' 0 3| o
® B & & 200 50 3| 006 0 3] 006




